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@ 2(3x+2) + (2x—1) (3x +2)
© 2x(2x+ 1) = 3(1 + 2x)

© (x+2)(x-1)-2(x+2)

® x*—4x+4

@ 2x>2+7x+6
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2)=03Bx+2)(2x+1)
(2x+1)(2x-3)
=(x

@D23x+2)+(2x-1)(3x+2) =
+2)(x-3)

O 2x(2x+ 1) - 3(1 + 2x)
®© (x+2)(x=-1)-2(x+2)
@2 -dx+4=(x-2)?°
@ 2x% + 7x+6 = (2x+ 3) (x + 2)




2. (A 43x+3)(x*+3x-5) + 7 O A9 QIFE BEF FFOA|Q,

O x-1 © x+1 © x-2

® x+2 @ x-4 ® x+4
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x% 4+ 3x = A 21 5}A}

¥ +3x+3)(x2+3x-5)+7

=(A+3)(A-5)+7

=A2-24-15+7

=A%2-24-8

=(A+2)(A-4)

:(x2+3x+2) (x2+3x—4)
=(x+1)(x+2)(x-1)(x+4)

wabA (2% + 3x + 3)(x% + 3x - 5) + 7 & A9 QA
x+1, x+2, x—1, x+4 °]t}.




6(x +2)2 + 5(x +2) — 614

x+2 =12 2%s}H

612 + 51— 6 = (2t + 3) (3t - 2)
t=x+2=V2+1°|B& ol& ]
(2v2+2+3) (3v2+3-2)

=(2v2+5) (3v2+1)

=124+ 17V2+5=17+17V2
Tt a=b=17°|E2 a-b =0

st




4. ¥ -9% 4+ 4x+ 12y E I5ENSH (Ax+ By) (Cx+ Dy+4) 7t
Hoha ek A+ B+ C + D 9] 3& Fatofet

> E.

> ®™eh: 2

(A1) = (x=3y) (x+3y) + 4 (x+3y)
=(x+3y)(x—3y+4)
LA4+B4+C+D=1+3+1-3=2




5. x=1+ V2, y=3Vv2-4 < ], 352 — dxy +y? °| k& Fslofet.

> E:

[> ®EHD 35-14+2

B

3x2 — 4xy + y?

=@Bx-y)(x-y)

={3(1+v2)-(3v2-4)}
A1+ 9) - (332-4))

= (3+43V2-3v2+4) (1+ V2-3V2+4)

=7(5-2v2)

=35-14V2




